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Tn1- 6 defermine if the relation is a function. If If is not, explain why it is not
function.
1 {(3.2).(-9.0).3,-3). (1, -2)} 2. Y=X3-1
HW 6.1 Answers No. 3rcpeats
Y
1. no; 3 repeats 9. f(-3)=5/7 3 : )
) i No. Fails
2. yes 10. k(-3)=9 : . verticl
3. yes 1. f(n+2)=2n-1 . 1 ngi
4. no; fails the vertical line test 12. h(n+1)=n?+2 s 4 fest.
5. yes 13. g(n-1)=4n-4n + 1 oy s
6. no; circle, fails the vertical line test 14 k(2n+1) =-6n-1 5 yepezlen 6 o telgeapes
7.h(-4)=-14 No. Circle.
8. g((-2)) =7 Vs Fails verfical tine fest
Evaluate each of the following:
7. h(x) = 3x -2, find h(-4) 8. glx)=-x*-3,find g(-2)
h(-4) - 3(-4)-2 Qc2)=- 2)-3
h(-4) = -4 :—l{.—s
=7
5. f(x):%,find -3) 10, k(x):Z‘[llji' find K(-3)
. 234 K(-3): 2{[337+5
Hi)'é{—j))%z K[5) =2(2) 45
3] 4 K3):4
Jan 3-8:24 PM Jan 11-8:43 PM
1. f(x) = 2x - 5, find f(n + 2) 12. h(x)= (x - 1)? +2, find h(n + 1)
fn+z)=2/n+1)-5 hnt): (n#l=1)*+2
fn+2)=1n-| hintl)=n*+2
13, g(x)=(2x + 1) find g(n- 1) 14, k(x) = 2 - 3x, find k(2n + 1)
R
gn-N=(2n-+1) K+ =2-3(mn+1)
gn-n =(2n-1)": (2n-1)(2~1) Kian#1) = ~bn-1
gin-1=2n(2n-N-1(2n-1)
g(n-1) =4 n-2n +
g(n-1) <44+l

Jan 11-8:44 PM

Jan 3-3:41 PM

2 .
Warm—Up: f(x) = -x" + 3x find f(2x - 1) Domain -The domain of a function is the set of all x-values (inputs),
. f(zy(_ D = - (ZX— D % 3(2 X— l) independent variable
é‘f‘crfz: £(2x=1) =~ YxHx-1 +oX— 3 Range - The range of a function is the set of all y-values (outputs),
Tl dependent variable
(2x-1)2x~1) L(2x-) = -yx+jox-4
9x(2x-1) = 1(2¢ 1) )
Py-4x+ |
Jan 3-3:42 PM Jan 3-3:42 PM
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For the following relations, state the domain and range. 3. {(1,D),(2,3),(3,4),(4,2), (5,1}
Determine (yes or ho) if the relation is a function. Domain: i 1.2.3 4, 53
L {32).6.7),14),0.2),3 7) Range: L1214, 23
Domain: ia\ 5, | ) 93 X
Range { 2,7, 4‘3 Function? 429
Function? N0 4. {@, 1), (2, 2), (Q, 8), (2, 7),(-8,3)}
Domain: ((’;c, ,*?3
2. {(6.2.(3.5.0.0). 5. 7). 8 5} Range: LLYT, 3%
Domain: f !q 5‘9, 5;83 . .
Range: EZ 5,0, 7} Function? _N0
Function? l:;(S

Jan 3-3:43 PM Jan 3-3:46 PM

Two Types of Notation: Set-Builder and Interval

Interval Notation Set-Builder Notation Number Line Graph
Given the number line graph:
2 &€X& 7 ~A<L 3
Set-Builder > {x|-2 <x<7} X [-3.4) X 3 =X <‘( < @D —>
Read: The set of all x such that - 2 is less than or equal to x and x is less than 7 ( - '| 51 {x|-1<x <5} <—@BDnwe—>

| Interval Notgtion > Parentheses and/or brackets are used to show whether the endpoints Z - s
are excluded or included. For example, (-o0, 2) or (4, =) X x<2 or x>“ ‘NQ_M
(3 4

[2, 7) is the interval of real numbers between 2 and 7, including2 and excluding 7.
® A (XIx € IR) W
E ] (OQ,.O) +k * R" X
o(C )
q'\ L 4 |¢nrq+ O‘F i‘p

rea] aymbers.

Jan 3-3:47 PM Jan 3-3:47 PM
Find the Domain and Range for each graph. ) A . 4 )\ :
) A’ 2 A N\ T4 4 LA
4 1 4 . 7
a / \ i 2
\ a / \iz - X g X
1 \ < > >
\ N & -~ Rchodl 2 12N 4. 8-5...— .2y
Gl g / - SE R R L L - a a
a / . 2 N
T a--if N A Ry 8 h .
R N ; RN R .

O— 5 Y °Ii
I’Jomzn"‘ (".')'___w Domain : V( .oosoli main Donmain -'b\ 4
Range : E ) ) Range : (“oé )él Range: Range :Qb \4
Domain Move from Left to Right
Range Move from Bottom to Top

Jan 3-3:47 PM Jan 3-3:51 PM
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Domain : c— 1” 2) Domain : M Range : (¢ ,2_) Range 3L_)—- = O\

Range: (5,27 Range: LO\e0)
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